REfvaR KiE

EE2EHTR R SEFIORIRE LRRAR

2 ERIE 0 B B | 35

7T
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1 FEERE 85 8 8 1 8+3 7 5+4 7+3+5 145 4+7+6 3
2 Rl 83 6 5 8 3+2 5+6 5 2+8+1 6 8 8 8 2
3 RS EEITS 62 2+8 8+3 6 3 7 6+7 4 8
4 HrREXM 61.5 5+6 1 4 3 3 4 3.5+7 6+2 4+3 2+1 7
5 + B 48 4 6 3 4 7+8 6 2 8
6 o li) 40 7 14247 4 7 7 5
7 wRER 33 3 6 447 8 2+3
8 &M 31 5 2 6+2 7 5 4
9 #FH 29 7+3 5 7 6 1
10 A E 26 1 3 2 6+5+8 1
11 HRE— 21 7 1 7 6
12 BERE 17 1 8 8
13 REAF 16 3 8 2 3
14 HR R 15 6 5 3 1
15 ] 14 2 4 2+6
16 =HEE 13 5 8
17 HFMEE 11 4+7
18 = E A 11 5 2+4
19 RG-S 10 6 1 3
20 itk 9 3 6
21 =H 9 2 2 5
22 Jeis 8.5 3.5 5
23 EFER 8 8
24 +BETRE 7 7
25 Nifg 6 6
26 RiIE 5 5
26 =%®= 5 5
26 HFEHE R 5 5
29 HRE 4 4
29 TG FERE 4 4
29 N 4 4
29 R 4 4
29 i) 4 4
34 RERT 2 2
35 =% 1 1
35 ES-VII=E 1 1
35 KA 1 1




